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Section A - (Marks: 5 x 4 = 20)

Answer any five guestions.
Solve x dy - y dx = xy? dx.

Solve (D2-3D +2)y = Cos 3x Cos 2x.
Solve (D? + 1)y = x? Sin 2x.

Solve (x2 D? + 2xD — 12) y = x® logx.

Solve (D? + 1)y = Cosec x

Solve x (Y2 —2Z2)P - Y (22 + x2) q = z ()@ + y?).
Find the complete integral of P(1 + q) = gz

Section B - (Marks: 4 x 15 = 60)

Answer all questions.

All question carries equal marks.

i)  Solve (x2—y?) dy = 2xy dx.
i) Solveyp?+(x—y)P—x=0.

Or
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i) Solvex?ydx—(x3+y3dy=0.

dx dy dz

ii) Solve y—zx - yz+x - xl+y?

So|ve(DZ+1)y- ¥+ Cos x + x3 + % Cos x.

Or

iy Solve (D?-4D + 3) y = Sin 3x Cos 2x

ii) Solve (D*+2D?+ 1) y = x2 Cos x.

i) Solve (D? + a?) y = Tan ax.

i) Solve X’ g-} + 2x° 3 32' +2y= 10[x+ 1)
Or

2

i) Solve(xSinx+Cosx)EJ—c% —~xCos x g‘;i +yCosx=0.

dy dy 2 x
i Sol x? xX—— —y=x"¢€".
) Sovex ot ¥ Y

i)  Form the Partial differential equation from Log (az—1)=x+ay +b.
iiy Form the partial differential equation from x +y +z = f(>@ + y? + 2?).
Or

Find the complete integral of the partial differential equation Z? = pq x y.



b)

)

d)

e)

f)

9)

h)

BSc 240/IISIN/ET

TELUGU VERSION
QeI A - (STC0,e0 1 5 % 4 = 20)

DB 2850 (SO CBOS0.

x dy — y dx = xy? dx &0 FJQoSoG.

dx dy

dz
BianelRastor 30 JHoSok.

x -x 2x-3y
(D2 -3D+2)y = Cos 3x Cos 2x 3o PoSos.
(D?+ 1) y = x? Sin 2x &0 PHossos.
(x2 D2 + 2xD — 12) y = 3 logx &0 J*Qokod.
(D? + 1) y = Cosec x &0 JHoisod.
x(y2=22)P =Y (22 +x2) q = z(x% + y?) 3> FHotos.
P(1 + q) = g2 £ So°g 35S0y K:3089,06.

QeI B - (518,05 : 4 x 15 = 60)

&) BFHE> AOBPBD.
&R EHPEO S5°C0,00 SITH500.

) 02 —y?)dy = 2xy dx S50 PQoSosG.
i) yp? +(x—y) P—x=03 Hosods.
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i) . x2ydx— (S +y%)dy =05 doSod.

dx dy dz

) S am  yarn - Fiey? SO0D0G

(D?+1)y =, +Cosx +x®+ & Cos x 5 QoSodk.

o
i) (D?—-4D + 3)y = Sin 3x Cos 2x 5o oS30,
i) (D*+2D%+ 1)y =x?Cos x 3o JHoSod.
i) (D?+3a?%y=Tanaxd JHodod.

3 day 2 dzy

1
i)y X oGt —5+2y= 10(x+;)m FOoSos.

dx® dx?

so°

2
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d d
i) (xSinx+Cosx)—-‘X —x Cos x = +y Cos x = 0 5o JrQossod.
dx?®

dx

2
i) ngx—ﬁ'+ x% ~ 3y =x"e* 50 >oSob.

) Log(az—1)=x+ay +b $QESE0 B, FEE SK0S SoESeTR) E508,0d.

i) x+y+z=F(3+y?+2%) EDoabo Gook, FEE eSKeS SAEETY K080k,

o

Z2 = pg x y Y &0 SDoESe0 Baok, SO DSTEeTY K508%,08.




